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Question One

a) Using diagrams where necessary, clearly differentiate between the following economic terms

i. Slutsky’s  Substitution Effect and Hicksian Substitution Effect
ii. Strong Axiom of Revealed Preference and Weak Axiom of Revealed Preference 







 (8 marks)
b) When the price of a good changes, there is an expected change in the consumer demand for that good. Using a well labelled diagram, discuss the effect of an increase in the price of a Giffen Good on the demand for that good









(6 marks)
c) Kinyanjui’s utility function for the consumption of bread and sausage is given as U=X2Y where X represents quantity bread and Y represents quantity of sausages. If the price of bread is Ksh. 50 and that of sausage is Ksh. 20, calculate the quantities of the two goods that Kinyanjui will demand if he has a total of Ksh. 1,200 to spend on them


(7 marks)

d) What are the disadvantages of perfect competition


(4 marks)
Question Two

a. Briefly discuss two properties of technology



(2 marks)
b. Distinguish between Lump-sum tax and Ad-valorem tax and use diagrams to show their effects on a consumer’s budget line


(3 Marks)
c. The following production function belongs to Panyako Ngumu Firm
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Where: Q represents output, K represents capital input and L represents Labour input.

The firm has a total of Ksh. 400 to spend on the two inputs whose prices are Ksh. 4 for input K and Ksh. 8 for L 
i. Using the Lagrangian expression, determine the quantity of L and K that the firm should use in order to maximize its output

ii. What is the maximum output produced by the Firm
(10 Marks)
Question Three
a) Kipchumba’s demand function for scones is given as

Q = 50 + M/10P 

Where Q is the quantity of scones consumed, P is the price of scones = Ksh. 8, and M is Kipchumba’s income used for purchase of scones ( M = 160). 

If the price of scones reduces from Ksh. 8 to Ksh. 3, calculate Substitution effect, Income effect and Net (Total) effect of the price change
(8 marks)
b) Using well labelled diagrams, discuss the three Stages of Production for a Neoclassical Production Function




(7 Marks)

Question Four
a) Naserian Enterprises processes milk in two different plants in Narok and Suswa towns. The demand function for milk is given as:


Q= 80 -2P
While the cost functions for Narok and Suswa plants are respectively given as:


C1= 5Q2 +70

C2= 0.5[image: image4.png]


 + 150

i. Calculate the profit maximizing level of output in each of the plants

ii. What will be the selling price for the output

iii. Determine the maximum profit for Naserian Enterprises 
(10 Marks) 
b) Given Demand and Supply Functions for a commodity as:

Qd = 25 - [image: image6.png]


 P   and
Qs = -8 + [image: image8.png]


 P
Find price elasticity of demand and supply at equilibrium
(5 Marks)
Question Five
a) Given the following Average Total Cost  function

ATC = 0.16q2 – 0.8q + 40 + 30q-1
i. Calculate the amount of output at close-down point

ii. Derive the firm’s short-run supply function

(10 Marks)
b) Given the demand function for a monopolist as 




Q = b0 – b1P

Derive the equations for the firm’s Average Revenue and Marginal Revenue and compare the slopes of the two




(5 Marks)
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